f Aufgaben%
%Klammern /

L O
2 (o)
2 @Emo)
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[ N
/ Rechnen mit Klammern&

8 - b+ 7#-2)=
8 +(4+7) 2=
8 « (b+7#)-2=__
B8+4 -7) 2=
B8+L4 +7) 2=
8 - (4+7)+2=__
8-4)y- #-2=___
8 + 4 « (F+2)=
8 + 4 « (- 2)=

TN N N N
Trage die passenden Ergebnisse ein:
72 10

26 L
G 3 8 3 O 2 8 gw?athemonsferzng . 4

4 N
/ Rechnen mit Klammern%

6 + 3 « (8 +
6 - (3+ 8 -
(6 +3) 8 -
(6 -3) - 8 -
6 « (3 +8)+
6 *+ (3 +8)-
(6 - 3 +8) -
(6-3)-(8+9)=
(6 + 3 -8)-9 =

TN N N N N

Trage die passenden Ergebnisse ein:

9) =
9)

2
9
9
9 =
9
9

572 15 12
9 75 99 51 63
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[ N
i Rechnen mit Klammern&

9 - (8-7)+ 5 =
9 - (8+ 7 -5)
(9-8) 7+ 5 =
9 «(8-7) -5 =

(9-8--%-5=___
9+8 - (#-5)=__
9+8-7#) 5=
9-8+7) 5=
9 +(8+7%) 5 =

) Y S U e

Trage die passenden Ergebnisse ein:

50 90 14
4L 12 40 s 2
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4 N
/ Rechnen mit Klammern%

8+4).5-1=_
B8+4).(5-1)=
8-4)« 5+ 1=
B (we5)+ 1=
8 «(4+5)-1=_
8 - (4+5+1)=
g8 +4+5-1)=__
8-4) - (5-1)-=

8-4) - (5+1)=

TN N N N
Trage die passenden Ergebnisse ein:
59 80

6u 71
o] 73 16
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21
\

[ N
/ Rechnen mit Klammern&

(8 +
(8 -

6) + 4 - 3 =
6) - 4 + 3 =
(8 +6)« (4 +3)-=
(8 - 6) - 3) =
8 + (6+U4)- 3 =
8 « (6 + 3) =
8 - (6 -
(8 + 6 +
(8 -6 +

Trage die passenden Ergebnisse ein:

08 54 53 7
2 11 19 18 56
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4 N
/ Rechnen mit Klammern%

(9 -
(9 -

7). 6 + 1 =
7) « (6 +1)
(F+6) - 1 =
7) - (6-1)=
9+ 7 - (6-1)=
9+ 7 «(6+1)-=
9+ 7 -6)+ 1=
(9-7+6) 1=
9+7%) -(6-1)=

TN N N N
Trage die passenden Ergebnisse ein:

O
+

8 b
14 58 13
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10
\

[ N
i Rechnen mit Klammern&

(9-%)+« 3 +5 =
(9-7) -3 -5-=
9 «+ (#+3)+ 5 =
9 «+(#-3)-5 =
9 « (+ 3 -
9 + 7 « (3 + L
9 « (+ 3 +5)=
9 +(#+3)+ 5 =
9 +(#-3)+ 5 =

) Y S U e

Trage die passenden Ergebnisse ein:

65 31 95
45 29 135 59 1
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4 N
/ Rechnen mit Klammern%

8 « (6+14) -2 =
8+ (6-U4)- 2 =
8 + 6 « (b4 +2)=
8+ 6 +4) . 2 =
8 « (6+ U4 +2)=
8 +(6+L4). 2 =
8 +6 «(4-2)=
(8-6 +U4) .« 2 =
8 +(6-4) . 2 =

TN N NN
Trage die passenden Ergebnisse ein:

12 4k 59 96
A 1 LI- 28 78 v%w?m‘rhemonsferc]enge . 4

[ N
/ Rechnen mit Klammern&

- (8+2)- 1=
- (8-2-1)-=
. (8 -
+ (8 +
+ (8 -
+ 8 « (2 +
+ 8 « (2 -
- (8 + 2
- (8- 2

N

+

N

1
1 =
1

N

)
)
)

O VW VW VW VW VW YV VYV VO

+
— — — —

+

)
)
)
)=

Trage die passenden Ergebnisse ein:

33 45 9z 19

15 99 63 89
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55
\

4 N
/ Rechnen mit Klammern%

6 < (3 +
6 + (3 +
(6 - 3 +
6 (3 +

5) - 7 =
5) « 7 =
5) « 7 =
5 -7)=
6 - (3+5)+ 7% =
(6 +3-5)+ 7 =
6 + 3« (5+7 =
(6 +3) 5 -7 =
(6-+3). 5 + Z =
TN N NN N

Trage die passenden Ergebnisse ein:

41 56
28

6 38 42 52

. www.mathemonsterchen.de 4
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